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Standing waves
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Suppose that we tie the end of a string (that exists for z > 0) down at
x = 0. What is the boundary condition on y? What happens to an
incoming wave of fixed wave- nt\znber /67
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For what values of k£ can we qt_ctuall(y have a standing wave on a string
with two fixed ends? O F QWQIM/""f af ~= (L wnot
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Find the standing waves (normal modes) of a string with two fixed

endpoints by directly solving the Wave equation. 1 \/('x t) (o,
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E What happens if we have one fixed end and one free end?
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What happens if we have two free ends?



